Construction division. Advice for giving credit to contractors/suppliers.

SI. N	Io. – site bills register	-2	62 -		Date Regis	- site	bills	3	28	6 23
Com	pany Name:	MR	PLLI	P	Site:				NGI	Н
Nam	e of Contractor		Basa	_					7 4 6 7	
Natu	re of work				ίων	k				
Wor	k done	From Da		1	-01-		To	Date	21-	6-2023
Sl. No.	Villa/Flat/block no.	Qty.		Rate		Units	S	Amou	int	Contractors bill no
1.	Block-A (w	all)-16	371-	5.	50/-	st	+	90	,047/-	
2.	2nd, 38d, 4-144									
3.	Corrdox2(01)	e Sky			,					
4. 5.	Ceiling luppan	-5	310 -	5:	50/-	3/	+	29,	205/-	
6.	work									
7.	Deduction of				/		10			
8.	window K Of	en -	562-	5.	50/-			- 3	091/-	-
9.	Place.						+			
10.										
11.	Т	otal					+	ر16را	161/-	
Bill	required	YES	NO.		GST	bill re	quire		YES D	NO.
	surement &	Require				ureme		2	Enclose	
	NO no.	□ Not req	uired		estim:	ate she			□ Not enc	losed
					10/11	- uai				
Rema	arks :									
								1		
Appro	oved by Project Mana	ger	Approv	ved by	Design	Team		Appr	oved by M	I.D.
Date:	28/6/23		Date:					Date	:	
Sign:	3		Sign:					Sign:		

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

Bill for Labour Charges

B Basappa Mallapur Hyderbad

Date.22.06.23

In favor of: Project / Site: Nilgiri Heights Nilgiri Heights

Location:

Pocharam

Type of Work:

Painting work

Towards:

Allowance for Labour charges

S No.	Description	Amount
1.	Brief description of work done: Towards completion of 2 coats luppum work at 2 nd ,3rd,4th floor corridor work	
	Total Amount = 1,16,162/-	Rs.46464/-
	Work done from date: 10.01.2023 to date: 21.06.2023	

Amount in words: Fourty six thousand four hundred and sixty four rupees only.

Sign:		
0 _		

Bill for Equipment Charges

B Basappa Mallapur Hyderbad

Date.22.06.23

In favor of:

Nilgiri Heights

Project / Site:

Nilgiri Heights

Location:

Pocharam

Type of Work:

Painting work

Towards:

Allowance for Equipment charges

S No.	Description	Amount
1.	Brief description of work done: Towards completion of 2 coats luppum work at 2 nd ,3rd,4th floor corridor work	Rs.46464/-
	Total Amount = 1,16,162/-	
	Work done from date: 10.01.2023 to date: 21.06.2023	

Amount in words: Fourty six thousand four hundred and sixty four rupees only.

Sign:	

Bill for Consumable Charges

B Basappa Mallapur Hyderbad

Date.22.06.23

In favor of:

Nilgiri Heights

Project / Site:

Nilgiri Heights

Location:

Pocharam

Type of Work:

Painting work

Towards:

Allowance for Consumable charges

S No.	Description	Amount
1.	Brief description of work done: Towards completion of 2 coats luppum work at 2 nd ,3rd,4th floor corridor work	Rs.23232/-
	Total Amount = 1,16,162/-	
	Work done from date: 10.01.2023 to date: 21.06.2023	

Amount in words: Twenty three thousand two hundred and and thirty two rupees only.

Sign:	
oign.	

Approved by: Vijay raj Company Name: MRPLLP MRPLLP		Sft	178.2	3.0	1.0	9.0	6.6			
MRPLLP Approved by: Vijay raj Approved by: Vijay raj NGH Approved by: Vijay raj Approved by: Vijay raj Painting work Length Width Height No's Quantity Units B.Basappa Length Width Height No's Quantity Units 22.6.2023 Length Width Height No's Quantity Units Block A 2nd,3rd,4th floor walls corrdior painting 2 coats luppum work 276.0 1.0 9.3 3.0 7,659.0 Sft Block A 2nd,3rd,4th floor ceiling corrdior painting 2 coats luppum work 38.0 1.0 9.3 3.0 1,054.5 Sft Block A 2nd,3rd,4th floor ceiling corrdior painting 2 coats luppum work 38.0 1.0 9.3 3.0 1,054.5 Sft Block A 2nd,3rd,4th floor ceiling corrdior painting 2 coats luppum work 38.0 1.0 9.3 3.0 1,054.5 Sft Block A 2nd,3rd,4th floor ceiling corrdior painting 2 coats luppum work 99.0 6.0 1.0 3.0 2,484.0 Sft Block A 3nd,3rd,4t		Sft	384.0	12.00	1.00	8.00	4.00	Deductions of windows and open place	Deductions of windows and open place	2
MRPLLP Approved by: Vijay raj Approved by: Vijay raj NGH Approved by: Vijay raj Approved by: Vijay raj Painting work B.Basappa Vidth Height No's Quantity Units B.Basappa Item Description Length Width Height No's Quantity Units Block A 2nd,3rd,4th floor walls corndior painting 2 coats hippum work 198.0 1.0 9.3 3.0 7,659.0 Sft Block A 2nd,3rd,4th floor ceiling corndior painting 38.0 1.0 9.3 3.0 1,054.5 Sft Block A 2nd,3rd,4th floor ceiling corndior painting 38.0 1.0 9.3 3.0 1,054.5 Sft Block A 2nd,3rd,4th floor ceiling corndior painting 38.0 1.0 9.3 3.0 1,054.5 Sft Block A 2nd,3rd,4th floor ceiling corndior painting 38.0 1.0 9.3 3.0 1,054.5 Sft Block A 2nd,3rd,4th floor ceiling corndior painting 38.0 1.0 9.3 3.0 1,054.5 Sft Block A 2nd,3rd,4th floor ceil		Sft	342.0	3.0	1.0	6.0	19.0			
MRPLLP NGH NGH NGH NGH NGH NGH NGH NG		Sft	342.0	3.0	1.0	6.0	19.0			
MRPLLP Approved by: Vijay raj Approved by: Vijay raj NGH Approved by: Vijay raj Approved by: Vijay raj Painting work B.Bassappa Length Width Height No's Quantity Units Anil.M Length Width Height No's Quantity Units Block A 2nd,3rd,4th floor walls corrdior painting 2 coats luppum work 276.0 1.0 9.3 3.0 7,659.0 Sft Block A 2nd,3rd,4th floor ceiling corrdior painting 2 coats luppum work 38.0 1.0 9.3 3.0 1,100.0 Sft Block A 2nd,3rd,4th floor ceiling corrdior painting 2 coats luppum work 38.0 1.0 9.3 3.0 1,054.5 Sft Block A 2nd,3rd,4th floor ceiling corrdior painting 2 coats luppum work 38.0 1.0 9.3 3.0 1,054.5 Sft Block A 2nd,3rd,4th floor ceiling corrdior painting 2 coats luppum work 38.0 1.0 9.3 3.0 1,054.5 Sft Block A 2nd,3rd,4th floor ceiling corrdior painting 2 coats luppum work 38.0 1.0 3.0 1,054.5 Sft		Sft	360.0	3.0	1.0	6.0	20.0			
MRPILIP Approved by: Vijay raj NGH Approved by: Vijay raj Painting work B.Basappa Anil.M Length Width Height No's Quantity Units Block A 2nd,3rd,4th floor walls corrdior painting 2 coats luppum work 276.0 1.0 9.3 3.0 7,659.0 Sft Block A 2nd,3rd,4th floor ceiling corrdior painting 2 coats luppum work 38.0 1.0 9.3 3.0 1,110.0 Sft Block A 2nd,3rd,4th floor ceiling corrdior painting 2 coats luppum work 38.0 1.0 9.3 3.0 1,054.5 Sft Block A 2nd,3rd,4th floor ceiling corrdior painting 2 coats luppum work 38.0 1.0 9.3 3.0 1,054.5 Sft		Sft	1,782.0	3.0	1.0	6.0	99.0			
MRPLLP Approved by: Vijay raj NGH Approved by: Vijay raj Painting work B.Basappa Anil.M Length Width Height No's Quantity Units 22.6.2023 Length Width Height No's Quantity Units Block A 2nd,3rd,4th floor walls corrdior painting 2 coats luppum work 276.0 1.0 9.3 3.0 7,659.0 Sft 40.0 1.0 9.3 3.0 5,494.5 Sft 38.0 1.0 9.3 3.0 1,054.5 Sft 51.0 38.0 1.0 9.3 3.0 1,054.5 Sft		Sft	2,484.0	3.0	1.0	6.0	138.0	Block A 2nd,3rd,4th floor ceiling corrdior painting 2 coats luppum work		
MRPLLP Approved by: Vijay raj NGH Approved by: Vijay raj Painting work B.Basappa Anil.M Length Width Height No's Quantity Units Block A 2nd,3rd,4th floor walls corrdior painting 2 coats luppum work 276.0 1.0 9.3 3.0 7,659.0 Sft Block A 2nd,3rd,4th floor walls corrdior painting 2 coats luppum work 276.0 1.0 9.3 3.0 7,659.0 Sft Block A 2nd,3rd,4th floor walls corrdior painting 2 coats luppum work 276.0 1.0 9.3 3.0 7,659.0 Sft Block A 2nd,3rd,4th floor walls corrdior painting 2 coats luppum work 276.0 1.0 9.3 3.0 7,659.0 Sft Sft 38.0 1.0 9.3 3.0 1,110.0 Sft Sft 38.0 1.0 9.3 3.0 1,054.5 Sft		Sft	1,054.5	3.0	9.3	1.0	50.0			
MRPLLP Approved by: Vijay raj NGH Approved by: Vijay raj Painting work Approved by: Vijay raj B.Basappa Anil.M 22.6.2023 Length Width Height No's Quantity Units Block A 2nd,3rd,4th floor walls corrdior painting 2 coats luppum work 276.0 1.0 9.3 3.0 7,659.0 Sft 40.0 1.0 9.3 3.0 5,494.5 Sft Sft Sft Sft Sft Sft		Sft	1,054.5	3.0	9.3	1.0	38.0			
MRPLLP Approved by: Vijay raj NGH Approved by: Vijay raj Painting work B.Basappa Anil.M Length Width Height No's Quantity Units 22.6.2023 Length Width Height No's Quantity Units Block A 2nd,3rd,4th floor walls corrdior painting 2 coats luppum work 276.0 1.0 9.3 3.0 7,659.0 Sft		Sft	1,110.0	3.0	9.3	1.0	40.0			
MRPLLP NGH NGH NGH Painting work B.Basappa Anil.M 22.6.2023 Item Description Item Description Length Width Height No's Quantity Units Block A 2nd,3rd,4th floor walls corrdior painting 2 coats luppum work 276.0 1.0 9.3 3.0 7,659.0 Sft		Sft	5,494.5	3.0	9.3	1.0	198.0			
MRPLLP NGH NGH Painting work B.Basappa Anil.M 22.6.2023 Item Description Length Width Height No's Quantity Units		Sft	7,659.0	3.0	9.3	1.0	276.0		corridor painting	-
MRPLLP MRPLLP Approved by: Vijay raj Painting work B.Basappa Anil.M 22.6.2023 Item Description Length Width Height No's Ouantity Units	неш неад 10	CHES							Block-A 2nd,3rd,4th floor	-
MRPILIP NGH Painting work B.Basappa Anil.M 22.6.2023	Itam II - 3 T	Inits	Ouantity		leight	Width 1		Item Description	Item Head	S No.
MRPLLP NGH Painting work B.Basappa Anil.M								22.6.2023	Date:	
MRPLLP NGH Painting work B.Basappa								Anil.M	Prepared By:	
MRPLLP NGH Painting work								B.Basappa	Contractor:	
MRPLLP								Painting work	Work Description:	
MRPLLP			IJay raj	ed by: V	Approv			NGH	Project:	
SOREVIENTSHEET								MRPLLP	Company Name:	
									MEASUREMENT SHEET	

1,16,161.65	Total amount:	T					
	980.10	5.50	Sft	1/8.2			
	2,112.00	5.50	Sft	384.0	Deductions of windows and open place	and open place	1
1,19,253.75						Deductions of windows	.
	1,881.00	5.50	Sft	342.0			
	1,881.00	5.50	Sft	342.0			
	1,980.00	5.50	Sft	360.0			
	9,801.00	5.50	Sft	1782.0			
	13,662.00	5.50	Sft	2484.0	Block A 2nd,3rd,4th floor ceiling corrdior painting 2 coats luppum work		
	5,799.75	5.50	SIT	1034.3			
	5,799.75	5.50	Sft	1054.5			
	6,105.00	5.50	Sft	1110.0			
	30,219.75	5.50	Sft	5494.5			
	42,124.50	5.50	Sft	7659.0	Block A 2nd,3rd,4th floor walls corrdior painting 2 coats luppum work	Block-A 2nd,3rd,4th floor corridor painting	—
Item Head Tota	Amount [1	Rate	Units	Quantity	Item Description	Item Head	S Zo.
					22.06.2023		Date:
					Anil.M	ed By:	Prepared By:
					B.Basappa	ctor:	Contractor:
					Painting work	Work Description:	Work
					NGH		Project:
	aj.	d by: Vijay raj	Approved		MRPLLP	Company Name:	Compa
						ESTIMATE SHEET	ESTIN

